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9g-famed i o4 ( Multiple Choice Questions ) -

1. ST (An entrepreneur is):
(a) S¥HeIAT & (Born)
(b) ST ST & (Made)
(C) ST=H <TdT & UG §+T1-IT STl & ST (Born and made both)
(d) 3 F PIS & (None of these)
2. YR ¥ AT BT AT & (The future of entrepreneurship in India is):
IFYBR H (In dark)
(Bright)
HISASH (In difficulty)
ST Y PIS 78T (None of these)

(a
(b) ISSTdeT
(c
(d

—_ = = =

3. 3aR Afedr 7 Afrafera T8t fbar Sar (Code of conduct does not include):
(a) 79 (Rules)

(b) ST (Dishonesty)

(c) FIST (Integrity)

(d) SBaT (Morality)

4. ITHT Y TR § (Characteristics of an entrepreneur):
(a) SRgT F&-Tadf (Risk Bearer)

(b) AT IUHH T TATUAT (Establishes new understandings)
(c) ATe UG &+ a1l (Provider of resources)

(d) SR T (All of the above)

5. R ST [IbTT Heer= f%?«lﬁ“a*(Entrepreneurial Development Institute of India is situated in):
(a) 3T89SMEIE #H (Ahmadabad)

(b) T79% 7 (Mumbeai)

(c) 7TE f&eett 7 (New Delhi)

(d) T3 ¥ (Chennai)

6. ST fhaeh GRT 3IMERT &Il &, (Entrepreneurship is ensured by):



a (Subsidiaries)

(a) GED
(b) ESIDHR T (Larger Firm)
(c) HETH B+ (Medium Firm)
(d) T HH (Small Firm)

7. Ffl'gG?ﬂ"T v & (Small industry is the subject of)-
(a) T TRER BT (Local Government)

(b) =< EDHR BT (Central Government)

(c) ISY TRDPR BT (State Government)

(d) 37 Tt BT (All of these)

8. 3Mfefa fohad =......(Economic activities=...................... )

(a) STIART + Y2IT (Business + Profession)

(b) TaEg=™T + AR (Business + Employment)

(c) T AISTIR (Profession + Employment)

(d) STIER+ YT+ USTTR (Business + Profession +Employment)

9. Jert HchLi\UT NG el & (Entrepreneur plays an important role):
(a) ST T ¥ (In political development)

(b) AT RT3 (In social development)

(c) 3T a7 (In economic development)

(d) T 37 fo5=dY 3 €T (None of these.)

10. U TGRS forg & Gofianvur faat 31afer &1 8T 2 (The registration of a trademark shall be for a period of):
(a) 3 a9 (3 years)

(b) 6 @ (6 years)
(c) 7 ¥ (7 years )
(d) 9 @ (9 years)

11. INTR BT HfoRUS D femor 71 3 3 fra-fosT 31 fdsam ST awetT & 2 (By which of the following the study of
competitive analysis of market can be done?)

(a) Jod  DH! Ud TureRiT ¥ & (Decrease in Price and

Increase in Quality)

(b) ST Tfehar &t e (Cost of the Process of Production)

(c) FFR=aR Y (Continuous Research)
d) IRIH Tt (All of the above)

12. ‘GHARAT BT ST {hvT TRE BT ATARATRID TIRIT & (‘Dishonesty of Employees’is the .......... type of cause of
business risk.)_

(a) FE™T (Human)

(b) QTEEﬁ'cF (Natural)

(c) 3Trf§ﬁ'cﬁ (Economic)

(d) IR Al (Govt. Palicies)

13. fauoH R 7 fovar T g9 & (Money spent on marketing is) :
(a) SEf&T (Wastage)
(b) 3TFTRID I (Unnecessary Expenditure)



()T &P IR YR (Burden on the Customers)
(d) CIERINES (Investment)

14.5¢ve Jfefae fbd af § TR g3MT? (Patent Act came into force in the year)-
(a) 1970

(b) 1972
(c) 1975
(d) 1973

15, IR IR .......... SRl BT AR BT & (Produce market deals in.......)-
(a) P (Agriculture)

(b) AFT-AIE (Gold-silver)

(c) ATUTST® (Commercial)

(d) SRIH ¥ F PIS T8 (None of the Above)

16. T 3 A B3 37 fImRT Y fRIwar & (Which of the

following is a characteristic of Economic Development)?

(a) FR=TR Ufh3T (Continuous process)

(b) 3T et T S foRE (Proper utilisation of means of production)
(c) ST TR IR (Improvement in standard of living)

(d) SR T (All of the above)

17. ... 37&@?41?:@%”'\’ ST &7 A Sud=o &l (According to........ "Innovation is specific instrument of
Entrepreneurship”.)

(a) ST T. gFTeR (Joseph A. Schumpeter)

(b) PRIE Ped (Forest Frantz)

(c) Yiex U, SN (Peter F. Drucker)

(d) SR ¥ F BIS T8I (None of the above)

18. fauuH &g R & (Marketing expenditure is a burden) :
(a) JET R (On Industry)

(b) AR W (On Businessmen

(c) GE{"fEHGﬁ'W( On Consumers)

(d) ST 1 It TR (Al of these)

19. ARG et B aIRAIT {5 ST & (Motivated employees are rewarded):
(a) BUMHD (negative)

(b) g-TTcHh (positive)

(c) IR (intrinsic)

(d) 3T I BIS &I (none of these)

20. 71 ¥ { -1 oTE FET T FHRT el 82 (Which of the following is not a problem of small industries?):
(a) 3TITH fa=T (Inadequate finance)

(b) URIfare et &t srma (Lack of trained persons)

(c ) QT HTEAfiehT (Old technology)

(d) ST 71T (Local demand)

21. YR ¥ oTg] FENT T USTIE BT & (In India registration of small industries is)-



(a) wd (Voluntary)

(b) 3TTRID (Necessary)

(c) 3TERT (Compulsory)

(d) T I DI & (None of these)

22. SR ... 3T UROIH & (Risk is the resultof ............. )-
(a) FT3AAT (Certainties)

(b) KIRIEREI (Uncertainties)

(c) STRIh SHT (Both the above)

(d) T I PIS & (None of above)

23. JMALIE- FTAHHAT [TaRYRT & Uiided & (Need Hierarchy Theory was propounded by):
(a) fsTEH HRAT (Abraham Maslow)

(b) Th. S&c]. T (F.W. Taylor)

(c) TeTthe 19T (Alfred Marshall)

(d) & RaveT (Henry Fayol)

24. AT f[AHRT HRIGH T TS BT ST & (EDP should be
organised generally by):

(a)4 AHTE 3rafer (4 weeks duration)

(b) 6 HHTE 37AfT (6 weeks duration)

(c) 8 THTE 3TAfT (8 weeks duration)

(d) SR ¥ F BIS T8I (None of the above)

25, "I IR T GoITH D fopam & I8 P fda &7 (“Basically entrepreneurship is a creative activity." Who
said this?)

(a) %fﬂ?? (Schumpeter)

(b) YR $HX (Peter Drucker)

(c) BNAfeTST (Hoselitz)

(d) SR ¥ JBIS T8I (None of the above)

26. RIS 1T & (Planning is)-

(a) TP T (Short-term)

(b) TEIBIE T (Middle-term)

(c) EEHIE (Long-term)

(d) St 3rafera & 1T (For all term)

27. IcASEHT BT DRI & (Function of leadership/entrepreneur is )—
(a) SRFT T (Risk taking)

(b) i @M T (Decision-making)

(c) TR fRIST (Business Planning)

(d) T &4t (All these)

28. R & qDHRT &I FAT BT FATI Fed & (Solution of unemployment problem of India lies in)-
(a) PR J&N  (Cottage industries)
(b) 9 JEFN ¥ (Large industries)



(c) T AT H (Small industries)
(d) T A PIS & (None of these)

29 ¥ I I fadraT a-fFmfor Y &2 (Which of the following is the attribute of an innovator?)
(a) 31T fOTfareT (More Qualified)

(b) IT° THTRTH TR (High social status)

(c) 3T TTaRTett (More influential)

(d) SR T (All of the above)

30. SIFPRT ATEHT & FErRoT BT YR 89T A2y (Motivational means should be determined on the basis of):
(a) EFfe® (group)

(b) SRR (Individualism)

(c) PH (job)

(d) IRIh Tt (all the above)

31.T% 38! AT 81 & (A good plan is)-
(a) Gdfet! (expensive)

(b) T TG (time consuming)

(c) ATy (flexible)

(d) HRTT (rigid)

32. RA H gef foaT ST & (In India stress is given on):
(a) TfRTeTor g U IR (On training centre training)
(b) BI-TAT RILTT T (On the job training)

(c) DRF &F FTER WIS R (Off the job training)

(d) SWRIB T (All of the above)

33. ST A D97 SfaT PRI &2 (Which of the following is non-financial motivation?)
(a) Ia (Salary)

(b) ST (Bonus)

(c) B (Commission)

(d) 1 T =& (Job Security)

34. ICICI RTfUq fhaT /T (ICICI was set up as):
(a) T ST 87 (a private sector)

(b) U@ A1 & (a public sector)

(c) TP Agh & (a joint sector)

(d) ST FPIS TE (none of these)

35. 171 i ¥ BH-3 qarfarofier rem EF & 2 (Which of the following
is not an environmental barrier ?)

(a) SIFIRTE (Social)

(b) 3TRI® (Economic)

(c) STRTRIT ( Motivation)

(d) IR (Political)

36. HAR kAT & (Communication is a process)



(a) TUh-ATTT (Single way)

(b) &R (two-way)

(c) A-arffa (Three way)

(d) $7% @IS &I (None of these)

37. AT SATER W FISTR BT e AT ST Feball &, IRT (On Geographical basis, market may be classified as)
(a) TJIFRT TR (Local Market)

(b) IR SR (Provincial Market)

(c) WWW@U IR (National and International Market)

(d) SWRIB T (All of the above)

38. SHIFIAT Yeve T ST &, & (Utility patent is granted for ) :
(a) 17 ¥ (17 years)
(b) 21 &Y (21 years)
(c) 18 & (18 years)
(d) 23 IY (23 years)

39. ST farT HRIHT BT AR, BT fABRIT BT & (EDP is meant for developing)-
() <afhTeT TG (Personal Skill)

(b) SEfcr RO (Entrepreneurial motive)

(c ) SR 0T (Personal qualities)

(d) 3T T2raroT (Unique training)

40. 777 ¥ Y HH-AT TfteT Saffy 6t fRar §2 (Which of the
following is the characteristics of women entrepreneur?)

(a) SRGT g & Ud $T8T (Ability and desire to take risk)
(b) PSR URSH BT TERT (Attribute to work hard)

(c) Ut afh (Imagination)

(d) SWRIH T (All of the above)



